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Unit 3b Day 9: Parts of a Linear function _
iocus Ouestion: How can I identify the parts of a function? Kelsey’s Vacation Irip

A What are some things you can tell based on the graph at the right?
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B. Parts of the graph help us understand “the story.” " o

In addition to slope, mathematicians use the words y-intercept
and x-intercept when they discuss a graph. On the graph at

Qe right, label what you think those two words refer to.

The correct answers are:

y — intercept: (@ : L}( ) X — Intercept: ( & , D_)
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Not all linear functions have an x-intercept. > &5

Can you sketch one that does not?

For thi.s reason, when dealing with LINEAR functions (equations for lines), it is the y intercept that is
more important. In math, the letter that stands for y intercept is b. Why is b an appropriate letter for the
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C. Telling the graph’s story
Adrienne 1s a stylist at a new age hair salon. She pays a monthly fee to rent a station at the salon. The graph
below represents her profits each month based on the number of haircuts she does.
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I. What are the coordinates of the y-intercept?
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2. What do the coordinates of the y-intercept represent?
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3. What are the coordinates of the x-intercept?
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$.  What do the coordinates of the x intercept represent?
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6. What is the “story” the graph tells?
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/. Billy Bob thinks he has a clogged pipe. Use the graph and all of your vocabulary to explain why he believes

this to be the case. |
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